What you will learn about:
Solving Systems of Linear Equations by Substitution

Solving System of Equations by
Substitution

Solve a system of equations by substitution,

Step 1. Solva ona of the eguations for either variabis

Step 2. Substituie the expression from S&&p 1 nio the other eguation.

Step 3. Solve the resuitng squation.

Step 4. Subsiitute the solution in Step 3 Into one of the original equations 10 find the other varable,
Step 5. Write the solution as an ondened pair

Stap 6. Check that thi ordersd pair 16 a solution 10 both anginal eguations
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Solve the system by Substitution. {
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Solve the system by Substitution. [
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Solve the syst[i by x+y 6 4

3x — 8)f = 24
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stitution. [
3x-8(-3 +54)=24
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“YIx +24=2Y4
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Solve the system by Substitution. {
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Solve the system by Substitution. { =
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Solve the system b}{s::t%titution. {;?.:x_+2§ ;:’ =7 V=1
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Solve the system by Substitution. {_-%é";ﬁ:j;‘ ( “
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Solve the system by Substitution. {5};:_@

Sx ~Y(-vx+s) ==} \/-.--5(,0%‘
6—}(+]1)“';‘D == %
[7x=-20=-3 =&

I7x= 17 6'))")

Y= |



Solve the system by Substitution. {4):}: 36 =18
Uy -5l-2) = 1%
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by = 11
X=5

o 2x+y=7
Solve the system by Substitution. {x ~2y=6 X:(’.}z’),
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Solve th by Substituti y=g+l
olve the system by Substitution. T
y==2x+5
Solve the system by Substitution. 1
Y= 3%
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